Calculations With Money - Answers
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10a
10b

£2.86

Award TWO marks for the correct
answer of £2.02 OR 202p

If the answer is incorrect, award ONE
mark for evidence of appropriate
‘working, eg

469+329=7.98

10 - 7.98 = wrong answer

m

Upto
2m

Accept for ONE mark £202p OR.
£202 OR 2.02p as evidence of
appropriate working.
CGalculation must be performed for
the award of ONE martk.
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£14.60 m

Award TWO marks for the correct Upto
answer of £4.45 2m

f the answer is incorrect, award ONE
‘mark for evidence of appropriate
method, eg

195+1.25+1.25

Do not accept £14.6

Accept for ONE mark £445 OR
'£445p as evidence of an appropriate
‘method.

Accept for ONE mark £8.10 OR
£19.05 OR the correct total of £4.45
‘and the answer given for 9a as

‘evidence of an appropriate method.

Answer need not be obtained for the
award of ONE mark.
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13a
13

£200

Award TWO marks for the correct
answer of 37p OR £0.37

OR

for finding the correct difference
between £199.63 and the answer

given for 13a.

If the answer is incorrect, award ONE

mark for evidence of appropriate
method, eg

74.68 + 65.90 + 59.05 = 199.63
200- 19963

OR

for evidence of an appropriate

method to find the correct difference
between £199.63 and the answer
given for 13a.

m

Upto
2m

Answer to 13a must be a multiple of
£10 for the award of TWO follow-
through marks.

Answer need not be obtained for the
award of ONE mark.

Accept for ONE mark £37p OR 0.37p
OR £37 as evidence of appropriate
method.
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7a

Award TWO marks for the correct Upto
answer of £4.10 OR 410p 2m

If the answer is incorrect, award ONE
mark for evidence of appropriate
working, eg

4x60=240
2x85=170
240 + 170 = wrong answer

£3.00 m

Accept for ONE mark £410 OR
£410p as evidence of appropriate
working.

CGalculation must be performed for
the award of ONE mark.
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7a

Award TWO marks for the correct Upto
answer of £4.10 OR 410p 2m

If the answer is incorrect, award ONE

mark for evidence of appropriate
working, eg

4x60=240
2x85=170
240 + 170 = wrong answer

£3.00 m

Accept for ONE mark £410 OR
£410p as evidence of appropriate
working.

CGalculation must be performed for
the award of ONE mark.
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Amounts written in correct order as m Accept use of equivalent units, eg
shown: 75p.

Accept answers with missing or

incorrect units.
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Award TWO marks for the correct Upto
answer of £1.38 2m

If the answer is incorrect, award ONE
mark for evidence of appropriate
method, eg

78+(} x120)

Accept for ONE mark £138p OR
£138 as evidence of an appropriate.
method.

Answer need not be obtained for the
‘award of ONE mark.
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£1051

Award TWO marks for the correct
answer of £2.26

If the answer is incorrect, award ONE
mark for evidence of appropriate
method, eg

3499 +12.75=47.74
50-47.74

OR
50-12.75-34.99

m

Accept for ONE mark £226 OR £226p
s evidence of appropriate method.

Answer need ot be obtained for the
award of ONE mark.
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£14.40 m Do not accept £14.4
20 m Do not accept £20
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£15

Award TWO marks for the correct
answer of £12

f the answer is incorrect, award ONE
mark for evidence of appropriate
working, eg

1150+ 16.50=28
40 - 28 = wrong answer

m

Accept for ONE mark £1200 OR
£1200p as evidence of appropriate
working.

Working must be carried through to

reach an answer for the award of
ONE mark.
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Award TWO marks for the correct
answer of 55p OR £0.55

If the answer s incorrect, award ONE
mark for evidence of appropriate
working, eg

875-765=1.10
1.10 + 2 = wrong answer

Upto

2m

Accept for ONE mark £55 OR £55p
OR 0.55p as evidence of appropriate
working.

Working must be caried through to
reach an answer for the award of
ONE mark.
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18

Award TWO marks for the correct
answer of 75p

If the answer is incorrect, award ONE
mark for evidence of appropriate
working, eg

£145-£1.10=35p

£1.10- 35p = wrong answer
OR

£110x2=£220

£2.20 - £1.45 = wrong answer

Accept for ONE mark 0.75p OR £75 as
evidence of appropriate working.
Working must be carried through to.
reach an answer for the award of
ONE mark.
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Three amounts circled as shown: Do not award the mark if additional
incorrect amounts are circled.

@D w10 () © e

indications, eg numbers ticked, crossed
or underlined.
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17

Award TWO marks for the correct
answer as shown:

Kate had [85p | Jamie had [65p

If the answer is incorrect, award ONE
mark for evidence of appropriate
method, eg

150:2=75
(75 +10) AND (75 - 10)

OR

a tral and improvement’ method, eg

=55 35
&5 45
75 55 (adifference of 20p)
oR
=70 8
%0 60
8 70 (atotalof £150)

Upto

Accept for ONE mark:
Kate had [ 65p | Jamie had [ 85p
or

Kate had [0.85p] Jamie had [0.65p]

Answer need ot be obtained for the
‘award of ONE mark.

A ‘trial and improvement’ method must
show evidence of improvement.
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21

Award TWO marks for the correct
answer of £19.38

f the answer is incorrect, award ONE
mark for evidence of appropriate
method, eg

114x13
OR
114x136+8

Accept for ONE mark £1938 OR
£1938p as evidence of appropriate
working.

Answer need ot be obtained for the
award of ONE mark.
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11a

116

Award TWO marks for the correct Upto
answer of £7.55 2m
f the answer is incorrect, award ONE

mark for evidence of appropriate

working, eg:

= 795+450=1245
20-12.45 = wrong answer

oR

» 20-7.95-4.50 = wrong answer

£2240 m

Accept for ONE mark £755 OR £755p
s evidence of appropriate working.
Working must be carried through to
reach an answer for the award of ONE
mark.
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Award TWO marks for the correct Upto

answer of £2.91 2m
If the answer i incorrect, award ONE Accept for ONE mark £291 OR £291p
mark for evidence of appropriate 25 evidence of appropriste method.
IR Answer need not be obained for the.
" 39px3=£L17 award of ONE mark.
29px6=£1.74
£11746174
or
" 40px3=£120

30p x 6= £1.80
£120+£180-9
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7a
75

£3.05
£350

m

m

Do notaccept £3.5
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16

Award TWO marks for the correct
answer of £33.75

f the answer is incorrect, award ONE
‘mark for evidence of appropriate
method, eg:

» Ben: £15
Nisha: £15 - £7 = £8.
Emily: £8 + £2.75 = £10.75
£15+ £8+ £10.75

OR

m 154(15-7)+(15-7 +275)

Upto
2m

@

Accept for ONE mark £3375 OR
£3375p as evidence of appropriate
‘method.

Answer need ot be obtained for the
award of ONE mark.
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18

Award TWO marks for the correct Upto
answer of 13 2m

f the answer is incorrect, award ONE
mark for evidence of appropriate
method, eg

500+ 15=33
500 +25=20
33-20

Award ONE mark for an answer of
131 OR 133 0R1330R 1333, etc
Award ONE mark for sight of 20 AND

33 with no evidence of an incorrect.
‘method.

Answer need ot be obtained for the
‘award of ONE mark.
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1a

116

479

Auard TWO marks for the correct answer of £235

1 the answer is incorrect, award ONE mark for
evidence of sppropriste working, &g

250+
125+ 140=265

>

5-265 = wrong snswer

m

Upto2m

Accept for ONE mark £235 OR £235p s evidence.
of sppropriste working.

Werking must be caried thraugh o resch an
answer forthe award of ONE mark.
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Am  Accept altemative unambiguous indications, eg
@ coinslisted, crossed or circled.
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10a

106

Auiard TWO marks fo the corect answer of £4.11  Upto 2m

1 the answer is incorrect, award ONE mark for
evidence of sppropriste method, &g

4x379=1516
895+1516=24.11
21120

Accept 71 55p.
Do not sccept 755

Accept for ONE mark £411 OR £411p s evidence.
of sppropriste mathod.

Answer need not be cbtained forthe award of
ONE mark.




image30.png
Prices in order, as shown:

£0.27

72

£207

£7.20

1m

Accept use of equivalent units, eg 27p.

Accept answers with missing or incorrect units.
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40p
Award TWO marks forthe correct answer of 65p
oR£065

fthe answer is incorrect, award ONE mark for
evidence of appropriate working, eg

120+ 35155

15590 = wrong answer

m

Upto2m

Accept for ONE mark £65 OR £65p OR 0.45p a5
‘evidence of appropriate working.

Working must be carried through to reach an
‘answer for the award of ONE mark.
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‘Award TWO marks for the correct answer of 6

fthe answer is incorrect, award ONE mark for
evidence of appropriate working, eg
250x2=5

14-5=9

9+150 = wrong answer
or

14-250-250-9

1.50 x wrong number =9

Up to 2m

Accept for ONE mark an answer of £6 as evidence.
of appropriate working.

Working must be carried through to reach an
‘answer for the award of ONE mark.
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15

Award TWO marks for the correct answer of 30p.

fthe answer is incorrect, award ONE mark for
evidence of appropriate working, eg

10px2-20p
£1-2p-20p

80p +4-20p
20p + 10 = wrong answer
or

£1+2-500
50p- 10p = 40p
40p+2-200

20p + 10p = wrong answer

Upto 2m

@)

Working must be carried through to reach an
‘answer for the award of ONE mark.
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Award TWO marks for the correct answer of £2.85

fthe answer is incorrect, award ONE mark for
evidence of appropriate method, eg

085x3=165
1204165

1m

Upto2m

Accept for ONE mark £285 OR £285p as evidence.
of appropriate method.

Answer nead not be obtained for the award of
ONE mark.
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2

Shows or implies a complete method with not more:
than one computational error or rounding error
g

340+125-272
Answer =27

o (1200-35x2475) = 125

120086625 = 33375
3375+ 125

267 seen

Shows the correct total for the trees, ie
£1191.25

Shows the correct change, ie
875

x Answer of £26

% Answer of 27 without a correct method shown
orimplied

| Method used for + 12.5 is repeated subtraction
Do not accept as a correct method
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Five coins which total £1.60, ie
£ 2 2p 10 10p
or

Sp S0p 2p 2p 2p
or

Sp S0p S0p Sp Sp

m

®

Coins may be given in any order.
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Do not accept 36 or Tuesday or £1.12
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Award TWO marks for the correct answer of £3.05

the answer is incorrect, award ONE mark for
evidence of appropriate working, eg:

W £5.00-£105=£395
£7.00- £3.95 = wrong answer
or

-

-2

241,05 = wrong answer

Up to 2m

Accept for ONE mark £305 OR £305p as evidence.
of appropriate working.

Working must be carried through to reach an
‘answer for the award of ONE mark.
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1m

m
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13 2m

Shows the value 9.5 or equivalent m
or

Shows a complete correct method with not more.
than one computational error, eg:

ms
. B

130

o B-9teron B~

"

£13

13
For 1m, accept as evidence of correct method
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12a

126

Award TWO marks for the correct answer of £2.63

the answer is incorrect, award ONE mark for
evidence of appropriate working, eg

825 x2- 164p
&p+3p =99

164p + 99p = wrong answer
0

Up to 2m

m

Accept for ONE mark £263 OR £23p as evidence.
of appropriate working.

Working must be carried through to reach an
‘answer for the award of ONE mark.
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500 AND 5p. im  Coinsmaybe given in any order.
or @ Accept altenative unambiguous indications, eg

T coins ticked, crossed or underlined.
Accept answers with missing units, eg 50 AND 5
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‘Award TWO marks for the correct answer of £1.75

the answer is incorrect, award ONE mark for
evidence of appropriate method, eg:

m 404425941
425x9-3825
40-3825

or

m 10yoyos cost £4250
9 yo-yos cost £4250 - £4.25 = £38.25
£0-£3825

Up to 2m

Accept for ONE mark £175 OR £175p OR 1.75p
as evidence of appropriate method.

Accept for ONE mark sight of £38.25 OR 38.25
OR 3825

Answer nead not be obtained for the award of
ONE mark.
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10 960requivalent, eg: 2m
- 950
or
‘Shows or mplies the correct scal factor, g m
« x3seen

‘Shows orimplies a complets correct method, eg:
.« 135:45x32

© 240 (emon
as[ 735

32x2.10=6.4 (error)
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Award TWO marks for a correct answer of 247 Upto2m

f the answer i incorrect, award ONE mark for Working must be carried through to reach an
evidence of appropriate working, eg ‘answer for the award of ONE mark.

£39.+ £55 =294
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£18.85

1m
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Award ONE mark for three boxes ticked or im  Accept altenative unambiguous indications.
crossed correctly as shown:

£1.03 can be made with exactly 1 coin. | %

£1.08 can be made with exactly 2 coins. [ X

£1.03 can be made with exactly 3 cains. [/
£1.03 can be made with exactly 4 cons. [/
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Table completed as shown: Both numbers must be correct for the.
award of the mark.

Type of coin | Number of coins
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16

‘Award TWO marks for the comrect answer
of £3.85

Ifthe answer s incorrect, award ONE mark for
evidence of appropriate working, eg

£10-£2.30=£7.70
£7.70

Upto2m

Working must be carried through to reach an
‘answer for the award of ONE mark.




image48.png
Award TWO marks for the correct answer of
65p or £0.65

f the answer i incorrect, award ONE mark for
evidence of an appropriate method, eg

12.x 25p = £3.00
£3.00-£2.35

Upto2m

Accept for ONE mark £65 OR £65p OR 0.65p.
‘s evidence of an appropriate method.

Answer need not be obtained for the award
of ONE mark.
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‘Award TWO marks for the corect answer
of £1.55

f the answer i incorrect, award ONE mark for
evidence of an appropriate method, eg

£5.40-£0.75 = £4.65
£465:3

Upto2m

Accept for ONE mark £155 OR £155p OR 1.55p
s evidence of an appropriate method.

Answer need not be obtained for the award
of ONE mark.
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550

22 seen
oR
Shows or implies a complete, correct method, eg:

© C=£450+8350x5
= £450 + £17.50 = £21 forror)
0214

m

m

Money
See guidance (page 6)

For 2m and 1m, do not accept misreads of
numbers given as words, eg;

« fourinstead of five

For 1m, accept answers with incorrect o
ambiguous units as evidence of a correct
‘method, eg:

« £550

« £550p

. g55

Correct embedded solutions

For 1m, condone a response which shows
£5.50 embedded irrespective of howitis.
obtained
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‘Award TWO marks for the corect answer of 18

f the answer is incorrect, award ONE mark for
evidence of appropriate working, eg:

® 100-64=36
3

Upto2m

Accept for ONE mark 0.18 as evidence of
‘appropriate working.

Working must be carried through to reach an
‘answer for the award of ONE mark.
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13

Award TWO marks for the correct answer of 80p.
OR£0.80

f the answer is incorrect, award ONE mark for
evidence of appropriate working, eg:

® £200-£005=£1.95
£5.00-£225=£2.75
£2.75 - £1.95 = wrong answer

Upto2m

Accept for ONE mark £80 OR £80p OR 0.80p as
‘evidencs of appropriate working.

Working must be carried through to reach an
‘answer for the award of ONE mark.
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1m  Coins may be listed in any order.
10p || 10p || 100

@ ‘Accept coins with missing units.
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£4.06

Gives an answer of 180 or 184 or 184.4(..)

oR

Shows or implies a complete correct method, eg:
* 1000 x2.49 + 1350

© £18.50+ £2.49=5.42
1000 + 5.42

1350+ 1000 =1.35
249:135

© £135=100
£2.70=200

1m

m

See guidance (page 6)

Ses guidance (page 7)

Inconsistent units
Within an otherwise correct method,
condone

g, for 1 mark accept:
« (©)1350 = 1000 = 1.35(p)

(©)2.49  1.35(p)
« (©)1350 = 1000 = (£0.0135
249(p) + (910.0135
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108

100

Award TWO marks for the correct answer of
£7.05

f the answer is incorrect, award ONE mark for
evidence of appropriate working, eg

B £20.-£5.45 - £7.50 = wrong answer

oR

m £54549750= 21205
£20 - £12.95 = wrong answer

15

Up to2m

m

Accept for ONE mark £705 OR £705p as
evidence of appropriate working.

Working must be carried through to reach an
‘answer for the award of ONE mark.
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16 50p 20p 10p 10p 10p im  Coins may be given in any order.

@
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26

Award TWO marks for the correct
answer of 20

If the answer is incorrect, award ONE
mark for evidence of appropriate
method, eg

m 30 x £5=£150
£150 — £110 = £40
£40 + £2 =20

Up to
2m

()

Calculation must be performed for
the award of ONE mark.
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Award TWO marks for the correct answer of Upto2m
55p OR £0.55

Voo comi e iz rntr || () | et Ok 500 500
evidence of appropriate working, eg s evidence of appropriate working.

m £235-£125= £1.10 Working must be carried through to reach an
‘answer for the award of ONE mark.
£1.10+ 2 = wrong answer
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£3.48
Award TWO marks for the correct answer
of £1.10

f the answer is incorrect, award ONE mark for
evidence of appropriate working, eg:

® £180+30p=£210
60p + 40p = £1.00
£2.10 - £1.00 = wrong answer

1m

Uptozm

Accept for ONE mark 110 OR £110p as
evidence of appropriate working.

Working must be carried through to reach an
‘answer for the award of ONE mark.
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Requirement

Additional guidance

Award THREE marks for the correct
answer of £55.10

Award TWO marks for a complete
correct method with one arithmetic

error, eg

= Sticks £12.50
Sugar £ 9.99 (error)
Apples. +£22.50
Total £44.99
Profit £100.00

oR

If the answer is incorrect, award TWO

marks for evidence of a correct total for

all the ingredients, eg

= Sticks £12.50
Sugar £ 990
Apples +£22.50
Total £44.90
oR

Award ONE mark for sight of £12.50
and £9.90

Upto
3marks

Answer need not be obtained for the
award of TWO marks or ONE mark.
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-

£2.55

Award TWO marks for the correct answer of
25

If the answer is incorrect, award ONE mark
for evidence of an appropriate method, e.
* £5.15-15p =5
£5+20p

OR

* £5.15-15p =85
5x5

1m

Upto

Answer need not be obtained for the
award of ONE mark.

Question 8b commentary: The 2014 national curriculum specifies that pupils should use simple formulae (6A2).
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16

Award TWO marks for the correct answer of
£5.75

If the answer is incorrect, award ONE mark
for evidence of an appropriate method, e.g.
© £6.75x3=£2025

£20.25 + £8.50 = £28.75
£2875:5

Upto

Answer need not be obtained for the
award of ONE mark.
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February and April in either order.

1m

1m

Accept alternative unambiguous
indications, e.g. F and A.

Do not accept the amounts collected in
February and April i.e. £55 and £65
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Award TWO marks for the correct answer of
29.259

If the answer is incorrect, award ONE mark
for evidence of an appropriate method, e.g.

* 65:2=825
3 6.5=20.5 (error)

3x325=9.75
205+9.75

OR

 10p + 5p weigh 659 + 3.259 = 9.75
30f each coin = 9.75 x 3

Answer need not be obtained for the
award of ONE mark.
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Award TWO marks for the correct answer
of 25p

If the answer is incorrect, award ONE mark

for evidence of an appropriate method, e.g.

. 168:2=84
109 -84

OR

3x28=84
109 -84

Accept for TWO marks, an answer given
in the acceptable notation (see page 10
for guidance).

Answer need not be obtained for the
award of ONE mark.

Accept for ONE mark an answer of 0.25p
OR £25p OR £25 as evidence of an
appropriate method.
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19

‘Award THREE marks for the correct answer
of £111.70

Ifthe answer is incorrect, award TWO
marks for:

« sight of £90 AND £7.90 AND £13.80
s all mutiplication steps completed
correctly

or

* evidence of an appropriate complete

‘method with no more than one:
arithmetic error, 6.0

750 79 690

x_12  x_10 x_2
8880 790 1380
(error)

88.80.47.90 + 1380 = 110.50

Award ONE mark for evidence of an
‘appropriate complete method.

‘Accept for TWO marks, sight of
9,000p AND 790p AND 1,380p as all.
multipiication steps completed correctl.

Answer need not be obtained for the
‘award of ONE mark.

A misread of a number may affect the
‘award of marks. No marks are awarded
ifthere is more than one misread or f the
mathematics is simplified.

TWO marks will be awarded if an
appropriate complete method with the
misread number s followed through
correctly.
ONE mark wil be awarded for:
« all multiplication steps completed
‘correctly with the misread number
or
* evidence of an appropriate complete
‘method with the misread number

followed through correctly with no
more than one arithmetic error.





image66.png
Award TWO marks for the correct answer
of 35p OR £0.35

If the answer is incorrect, award ONE mark

for evidence of an appropriate method, e.g.

* 50p +20p +10p + 10p + 5p = 95p
£2.00 - 95p = £1.05
£1.05

Upto

Accept for ONE mark an answer of £35
OR £35p OR 0.35p as evidence of an
appropriate method.

Answer need not be obtained for the
award of ONE mark.
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Award TWO marks for the correct Upto
answer of 73p OR £0.73 2m

If the answer is incorrect, award ONE
mark for evidence of appropriate
method, eg
195438+ (70x 2)= 373

373-300

Accept for ONE mark £73p OR 0.73p
OR £73 as evidence of appropriate.
method.

Answer need not be obtained for the
award of ONE mark.
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Award TWO marks for the correct answer
of £11.40

If the answer is incorrect, award ONE mark

for evidence of an appropriate method, e.g.

* £125+£1.60=£2.85
£2.85x4

Upto

Accept for ONE mark an answer of £1,140
OR £1,140p OR £11.4 s evidence of an
appropriate method.

Answer need not be obtained for the
award of ONE mark.
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13

Award TWO marks for the correct answer | Up to

of £1.39 2m
If the answer is incorrect, award ONE mark
for evidence of an appropriate method, e.g.

+ 12x99p=£11.88
£11.88-£10.49

Accept for ONE mark an answer of £139
OR £139p as evidence of an appropriate
method.

Answer need not be obtained for the
award of ONE mark.
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19

Award TWO marks for the correct answer
of £1.68

If the answer is incorrect, award ONE mark

for evidence of an appropriate method, e.g.

* 20-14.96=5.04
5043

Accept for ONE mark an answer of £168
OR £168p as evidence of an appropriate
method.

Answer need not be obtained for the
award of ONE mark.
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£302.27

1m
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14

Award TWO marks for the correct answer
of £0.90

If the answer is incorrect, award ONE mark

for evidence of an appropriate method, e.g.

* £135x2=£270
£270:3

Upto

Accept for ONE mark an answer of £90p
OR £0.9 as evidence of an appropriate
method.

Answer need not be obtained for the
award of ONE mark.
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Award TWO marks for the correct answer
of £5.50

If the answer is incorrect, award ONE
mark for:

« sightof22+4
OR

« evidence of appropriate method, e.g.

* 3tickets cost3 x £5 = £15
1 ticket costs £7
£15+ 87 =£22
£22

For ONE mark, accept an answer of £550,
£550p or £5.5 as evidence of appropriate
method.

Answer need not be obtained for the
award of ONE mark.
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Award TWO marks for numbers completed, | Up to
as shown: 2m

68800

+  [7]4]2

000E0

Award ONE mark for any two numbers
completed correctly.
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11a| 0.25 1m | Do notaccept % or any other fraction.

Refer to section 6.3 on page 16 for
additional guidance on marking answers
involving measures.

11b | 65(p) OR (£)0.65 1m | Refer to section 6.1 on pages 14 and
15 for additional guidance on marking

answers involving money.
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£7,899

1m

Refer to section 6.1 on pages 14 and
15 for additional guidance on marking
answers involving money.
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21a

21b

£1.50

Award TWO marks for the correct
answer of 250

f the answer is incorrect, award ONE
mark for evidence of appropriate
method, eg

360+90=4

1000 + 4

m

Upto
2m

Answer need not be obtained for the.
‘award of ONE mark.
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Award TWO marks for the correct answer of
£6.87

If the answer is incorrect, award ONE mark
for evidence of an appropriate method, e.g.

* £1.49+£1.64=£3.13
£10-£3.13

OR

* £10-£1.49=£8.51
£8.51 - £1.64

OR
* £10-164p - 149p =

Upto

Answer need not be obtained for the
award of ONE mark.

Accept for ONE mark an answer of
£687 OR £687p as evidence of an
appropriate method.

Refer to section 6.1 on pages 14 and
15 for additional guidance on marking
answers involving money.
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16

Award TWO marks for the correct answer
of £1.85

If the answer is incorrect, award ONE mark

for evidence of an appropriate method, e.g.

. I%XEI.Sﬂ:EZ.ZS
%MEI.B{]:7ﬂp(srmﬂ

£2.25+70p = £2.95
£5-£295=

e £1.50+75=£225
£2.25 + 90 = 415p (error)
£5.00 - 415p =

« sight of £3.15 OR 315p as evidence
of evaluating the correct cost of the
potatoes and carrots.

Upto

Do not accept misreads for this question.

Answer need not be obtained for the
award of ONE mark.

Accept for ONE mark an answer of £185
or £185p as evidence of an appropriate
method.

Refer to section 6.1 on pages 14 and
15 for additional guidance on marking
answers involving money.





image6.png
£2.45 OR 245p

juice and apple
[
milk and melon

m

m

Accept recognisable misspellings.
Accept items written in either order
Accept numerical substitutes for the
required pairing, ie

65p and 15p

or

55p and 25p




